ST £ 4 K2 100 £ 5 iR L3 A4 £ R

A (A7) 300 BMBEMA A N
N VY #r: 1009
# B :stiime BIAx 1R
1. IPv4 th 1k % Class A ~ Class B ~ Class C » Class D #e ClassE % 5 #£ %84 o 414} Class C 8%

(@) #HHEIPHEA - (6%)
(b) H48 AR 0 435 48 F (Network Mask) « (4%)
43t OSI 7 Layer Model » (10%)

H B8 AR R A5 5 (bridge)Fo 26 oy 3 (router) 65 7 48 © (10%)
—CETHEAAR:
X=0; Y =0,
while(X<10)
{
X=X+3;
Y=X+Y;
}

printf(“%d ,%d” X, Y);

(@) @R printf ¥ X Y 65405 5 B2 (5%)

(b) A for HREREFLAEXA K  (5%)

i 2 %1 #3 TCP Flow Control #» Peer-to-peer Model « (10%)

B F AL A 110010101110 0 4 &K AR A X +1(1001) » 3K CRC 45 2 fo k. CRC #545
MR AL 1 (10%)
A — B float A[18]{20]; (3% sizeof(float)=4) (10%)

A, % A2 AR ¥ e ik B 10E9ye » 7§ ALIS][13] ehfirik A4 2

B. 3% A[111[2)4 321658 ¥ et ik % 10E9ys 0 70 % A[SI[13] 644k A ?

# F 2] + A K (Inorder) $2 4, %4 B K (Postorder) « (20%)

A. (A+B)*(C-D)/E

B. A+B*C—(E+F)

H T B ATASE A AR 1 LMY (BFS ) 7 447 7124010 AR 8 SR 3B 5 - (10%)
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